
AC250H AC250H

2024/12/01 18:26:14(c) Qualica, Inc. 1



AC250H 目次

2024/12/01 18:26:14(c) Qualica, Inc. 2



AC250H 1. 本　体

2024/12/01 18:26:14(c) Qualica, Inc. 3



AC250H 1. 本　体

記号 番号 品番 代表品番 部品名称 個数 単位販売数 備考 メーカーコード

1 363318 AC250H 1

2 092552 6ｶｸﾎﾞﾙﾄ(+)SW 4 5 M6X20

3 222705 ｸﾗﾂﾁｹｰｽｸﾐﾀﾃ 1 4～12ﾌｸﾑ

4 214592 ﾍﾞｱﾘﾝｸﾞｹｰｽ 1

5 214161 102680 ﾍﾞｱﾘﾝｸﾞ 2 #6000ZZ

6 054676 Cｶﾞﾀﾄﾒﾜ ｱﾅﾖｳ 26 1 5 H26 82111-11150

7 560309 ﾎﾞｳｼﾝｺﾞﾑ(TH) 1

8 214163 ｵｻｴｻﾞｶﾞﾈ 1

9 092033 ﾅﾍﾞｺﾈｼﾞ(+)SW 4 10 M5X15

10 214593 ｶﾞｲｶﾝｳｹｶﾅｸﾞ 1

11 222706 ｸﾗﾂﾁﾄﾞﾗﾑﾏﾄﾒ 1

12 014210 Cｶﾞﾀﾄﾒﾜ ｼﾞｸﾖｳ 10 1 5 S10 83407-31140

13 092561 6ｶｸﾎﾞﾙﾄ(+)SW 1 10 M5X25

14 215531 ﾃﾞﾝﾄﾞｳｼﾞｸ 1 7X1520

15 223132 ｶﾞｲｶﾝﾏﾄﾒ 1

16 215532 ﾎﾝﾀｲﾆｷﾞﾘ 1

17 054691 ﾂﾘｶﾅｸﾞｸﾐﾀﾃ 1 18ﾌｸﾑ

18 089738 6ｶｸﾎﾞﾙﾄ(+ｱﾌﾟｾﾂﾄ) 1 10 M5X15

19 215418 ﾊﾝﾄﾞﾙﾄﾘﾂｹｶﾅｸﾞｸﾐﾀﾃ 1 20ﾌｸﾑ

20 092561 6ｶｸﾎﾞﾙﾄ(+)SW 6 10 M5X25

21 227457 ｷﾞﾔｹｰｽｸﾐﾀﾃ 1 22～28ﾌｸﾑ

22 234109 6ｶｸﾎﾞﾙﾄ 1 5 M8X8

23 092550 6ｶｸﾎﾞﾙﾄ(+)SW 1 5 M5X25-7T

24 212986 ﾊﾓﾉﾎﾞｽA 1 720333950

25 219195 ﾊﾓﾉﾎﾞｽB 1 720333960

2024/12/01 18:26:14(c) Qualica, Inc. 4



AC250H 1. 本　体

記号 番号 品番 代表品番 部品名称 個数 単位販売数 備考 メーカーコード

26 215610 6ｶｸﾎﾞﾙﾄWSW(ﾋﾀﾞﾘ
)

1 M8X22 ﾋﾀﾞﾘ 720323230

27 222128 ﾏｷﾂｷﾎﾞｳｼﾊﾞﾝ 1

28 222129 ﾀﾂﾋﾟﾝﾈｼﾞ 1 10 5X20

29 089737 6ｶｸﾎﾞﾙﾄ(+ｱﾌﾟｾﾂﾄ) 1 10 M5X12

× 30 228669 ﾈｰﾑﾌﾟﾚｰﾄ 1 AC250H

31 220549 ﾁﾕｳｲﾏｰｸ 1

32 225749 ﾊﾝﾄﾞﾙﾏﾄﾒ 1 ﾋﾀﾞﾘ

33 225751 ﾊﾝﾄﾞﾙﾏﾄﾒ 1 ﾐｷﾞ

34 215584 ｽﾄﾂﾌﾟｽｲﾂﾁ 1

35 222138 ｽｲﾂﾁｶﾊﾞｰ 1

36 210429 ｽﾛﾂﾄﾙﾚﾊﾞｰ 1

△ 37 222284 ﾜｲﾔﾏﾄﾒ 1

38 220533 ｶﾀｶｹﾊﾞﾝﾄﾞｸﾐﾀﾃ 1 720853570

39 222821 ｼﾞﾖｳﾒﾝｶﾊﾞｰｸﾐﾀﾃ 1 40ﾌｸﾑ

40 092561 6ｶｸﾎﾞﾙﾄ(+)SW 2 10 M5X25

× 41 224693 ﾁﾂﾌﾟｿｰ 10  BIG-M 1

42 127218 6ｶｸﾅﾂﾄ 2 10 M6

43 092578 6ｶｸﾎﾞﾙﾄSW(+) ｱﾂﾌ
ﾟｾﾂﾄ

1 5 M5X10

2024/12/01 18:26:14(c) Qualica, Inc. 5



AC250H 3. 付属品

2024/12/01 18:26:14(c) Qualica, Inc. 6



AC250H 3. 付属品

記号 番号 品番 代表品番 部品名称 個数 単位販売数 備考 メーカーコード

1 221460 ﾎｺﾞﾒｶﾞﾈ 1

2 220534 ｶﾘﾊｶﾊﾞｰ 1 720913120

3 222400 ｺﾝﾋﾞﾎﾞﾂｸｽｽﾊﾟﾅ 1 13X16X(+)ﾄﾞﾗｲﾊﾞ

4 022865 ﾘﾖｳｸﾞﾁｽﾊﾟﾅ 8X10 1 8X10 83407-32160

5 210181 ﾚﾊﾞｰﾊﾝﾄﾞﾙ 1 720983640

6 228670 ﾄﾘｱﾂｶｲｾﾂﾒｲｼﾖ 1 AC250H/HL

2024/12/01 18:26:14(c) Qualica, Inc. 7


